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EXAMINATION YEAR - 2023 TeT 1 9y - 2023
Marks : 40 3P - 40

General Instructions (ATATRI fAET ):1. Write your Name, Roll Code, Roll No., Registration No.,
Date of Exam., Sitting, Faculty and Name of the Subject on the OMR answer sheet in the space
provided. Put your full signature on the OMR answer sheet in the space provided.

3T YT AT, AT BIS, IeehaAid, Uohe Az, e @t fafdr,ureht, fasmr gen v &1 a8 OMR 3R

UAIds # & org Srg wR {1 3nu suenm g &aeR OMR ITR-Use & &t 918 SRIE R dI|

2. There are 40 Multiple choice questions in all.

g 40 dg-fasmcdr ueer &

3. All questions are compulsory. Each question carries 1 mark.

Aaft yoar siferart 1 uds uear 1 3B F B

4.Four Options are given for each question. Choose the most suitable option and indicate it by
blackening the appropriate circle [ *] in the OMR answer sheet given separately. Use only Blue/Black
ball-point Pen. The use of pencil is not allowed.

TE U # IR fawed RY o ) god F Ao Iugw Rbew g W 3wl I Y g OMR 3w
TP U A Mt B Hell BT [¢] IR B Jfaa Bifer | Nl JT Bl AcT-Wige BAHA BN &l YT &3 |
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5. Before leaving the examination hall hand over the OMR answer sheet to the invigilator. You are

allowed to take the question paper with you.
THeT oae Bisa A Usel OMR 393 Usieh dleid pl oller Sifor | Uee-usl 31U 3(ual AT of off JAebd & |

Adhere to the instructions above very carefully otherwise your OMR answer sheet will be
invalid and-will not be evaluated.
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1. Which of the following is an example of the nll set.
(@) A ={x:xisan even prime number greater than 2}
(b) B = { x : x is an even prime number }
(c) C = {x : x*- 2=0 and x is real number}
(d) D={x:x+2=5and x is a natural numbers}
9 o o Rad Iq= &1 IR B
(8) A = { X : X U& TH 3T WA §, N 2 W 531 81}
(b) B = { x : X U& TH 3HT T=AT ] 1}
(©) C= {x:x*-2=0Td x T IRdde JBM 31}
(d) D = { x : x+2=5Td x U&h UTgrdl T g1}
2. The given statement { x : x € R, - 2< x <5} is also written as
AU MU HYT { x : x €R, - 2< x <5} B! HY UBR ¥ forg Thd &
(@) x € [-2,5] (b) x € [-2,5] (c) x € (-2,5) (d) x € [-2,5)
3.Let A={1, 2,{3,4},5, 6, } which of the statements are incorrect
afe A={1,2{3,4},5 6, } G T S Tad b g

(@4{3,4}€ A (b)5€eA (©){{34}}reA (d) {1,256} CA
4. If R is the set of real numbers and Q is the set of rational numbers, then whatis R-Q?

(@) N (Set of natural numbers) (b) Z (set of integers)

(c) W (Set of whole numbers) (d) T (Set of irrational numbers)
g R IRfaes Tesh &1 T § Td Q URET Tesft &1 9= ¢ df R-Q el ghme

(a) N (VT TRITS T Tg=4) (b) Z (qUTop TSI BT T

(c) W (quf et &1 a=) (d) T (e Sersll &1 9=

5. 1f AxB={(-1,0),(1,0), (1,3), (2,4), (3,5) }, then find A.
g A x B={ (-1, 0), (1,0), (1,3), (2,4), (3,5) },7 A 71 B3|
(@ {-1,1,3,3} (b) {0,3,4,5} (c){-1,0,1,2,345} (d) {1,2,3,45}
6. IFA={x,y,z}and B = { a, b} How many subsets will A x B have
(a)6 (b) 64 (c) 32 (d) None of these
gfeA={x,vy,z} 3R B={a, b} SalAX BH Iugnr=dl & ITe fobat grfi?
(a) 6 (b) 64 (c)32 (d) 35 QA IS T
7. The domain of real function f(x) = ,/(x — 3) is
IS B f(x) = /(X — 3) HT WA 2-

(a) (-e°, 3) (b) (3,°°) (c) [3,°°) (d) (-o=, -3)

8. The value of Sin 30° cos 15° + cos 30° Sin 15° is
Sin30° cos 15° + cos 30° Sin 15° &TaEM g

(@) 3 (b) © (c) 1 (d)

9. The value of tan (%) IS

sl

tan (an) WIH:T%

(@) V3 (b) V3 (0% @ -7
10. The Principal value of the equation cosecx = -2 are —
(a) S?H, %ﬂ (o) %ﬂ, 11?11 (c) g, %ﬂ (d) None of these



FHIBUT cosecx = -2 1 HBA & B -
@ == (b) 2, =% (c) 5E (d) T & 1S T

6’ 6 6 6 6
11. A wheel makes 360 revolutions in one minute. Through how many radians does
it turn in one second.
T Ufedl T fBe & 360 URGHHU IRl § df Ueb Ydbe H foram ST A0 &1 HI0T F1T?
(a) 2m (b) 6T (c) 121 (d) 18m
12. For any natural number n, 10°** +1 is divisible by -

fepett ot e W n & forg, 107" +1 fyvifra g -

(a) 0 (b) 5 (c) 10 (d) 11
13. If (E)m = 1 then the least integral value of mis -

tri%(i—::)m= 1 @ m &1 g4 uifes A 8T -

(a)4 (b) 2 (c)o (d)-4

14. Multiplicative inverse of 4+3i is -
4 +3i &1 IUND UlaId gRT -

(@) oo+ (b) o= - i (c) 4+3 | (d)> 2
15. Modulus of the complex number z = v/3 — i is-
TR Tz =3 — | HTAUBE -
(a) 1 (b) v3 (c) 2 (d)4

16. Fill inthe blanks: —3x < —=15=x ...... 5
REAWEABTI R —3x < —15=>x...... 5
(a) < (b) < (c) 2 (d) >
17. The solution of inequality 2 <3x — 4 <5-is
2<3x—4<5 AR
(a) [2,3] (b) (2,3) (c)(2,3) (d) (2,3]
18. How many numbers between 100 and 1000 can be formed by the digits 1,2,3,4,5,6,8
no digit being repeated?

1,2,3,4,5,6,8 3dl & 100 3R 1000 & &t frd-t TDATT ST O Jobd! g dIip fbat 3ich B

QRIgf el giell 812
(a) 120 (b) 210 (c) 343 (d) 240
19. If "Cqo = an then find nC19 .
(@) 19 (b) 0 (€)1 (d) None of these (378 ¥ ®Is Tal)
g "C1p ="Cy @ "C1o HT A I BT
(a) 19 (b) 0 © 1 (d) 39 I IS e

20. A bag contains 5 black and 6 red balls. Determine the number of ways in which 4 black and 2 red
balls can be selected.

TH At H 5 BTeht 3R 6 AT Tg g1 4 Bl qUT 2 AT el &b g9 & e b we Fuiia s
(a) 57 (b) 30 (c)1 (d) 75
21. The value ¥ 7_, 3" is
n_, 3" BT HE B
(a) 4" (b) 3"



(€)1 (d) None of these (378 ¥ ®Is gl

22. Find the coefficients of x° in the expansion of (x+3)°.

(x+3).% TIR T x° & T[0T AT BT
(a) 1215 (b) 1512 (c) 1500 (d) 1200
23. How many terms are in A.P. 20, 25,30...................... 100
TR F0f 20, 25,30, 100 ¥ forae UG &7
(@5 (b) 16 (c) 17 (d) 15
24. Find the arithmetic mean between 5 and 15
5 3R 15 & std Ueb GHIAR HIL J1d DI
(@5 (b) 15 (c) 20 (d) 1o
25. For what value of x the numbers X — 3, X, X+4 are in G.P. ?
(a) 12 (b) 1 ()7 (d) None of These
X & o1 O & foTe TRem X -3, X, X+4 TR Ao # g 2
(a) 12 (b)1 ()7 (d) &9 A IS &
26. If 3x-4y+9=0 and ax + 6y+5=0 are perpendicular then ‘a’ equal to
@ z (b) 8 © % (d) None of these
TfE 3x-4y+9=0 TUT ax+6y+5=0 TRTR TAHIId g <l 'a’ BT A F1d ST
@ > OF © = (o) S8 P 7l
27. Find the equation of a line that cuts off equal intercepts on the coordinate axes and passes through
the paint (2,3)
@x+y=6 (b)xy=5 (c)x+y=5  (d) None of these
TP T HT FHHIT F1d HIfoTE St D! I T ofd . WS Fledl g 3R g (2,3) I ot &1
@x+y=6 (b)xy=5 (©x+y=5. (d) FTHEDE T

28. Find the equation of the line parallel to the line 3x — 4y+2=0 and passing through the faint (-2, 3)
T 3x — 4y+2=0 F AR 3R g (-2,3) J T Gl AT 6T FHHRU) 1T HIoT|

@) 3x+4y+18=0 (b) 3x +4y—-18=0

(C)4x-3y+18=0 (d)3x-4Y +18=0
29. Find the length of perpendicular from the point (3,-3) to the line 9x + 3y +16 =0

farg (3,-3) T TRA WM 9x + 8y +16 = 0 W Tl T A H| AHITS HpIat|

(a) 3 (b1 (€)5 (d)6
30. Find the centre of the circle X2 + y2— 4x— 8y — 45=0
(a) (-4,-8) (b) (2,4) (©) 2,-9) (d) None of these
Jd X2+ y2e Ax -~ By— 45 = 0 T 5 (HTd |
(a) (-4,-8) (b) (2,4) (©) (2,-4) (d) 3TH A BIg T8I

31. Find the axis of the parabola x2 = 9y

URATT X2.= 9y &1 31 Fabrai |

@Y=0 (byx+y=0 (c)x=0 (dyx=-9
32. Find the distance between the points (2,3,5) and (4,3,1).

g (2,3,5) AUT (4,31) & &1 DI g HabTa |

(a) V5 (b) 2 ()5 (d) 25
33. Derivative of log,* with respect to X is :-

log,* T ATHES X &b ATUE I -

1 log ¢
@) 2

(b)
34. The value of lim,_,xsin~ IS :

© i (d) a*. xlog,®

xlog,* x



@1 () 0 ©) % (d) None of these
limy,_ox sin% DT HH % :

@1 (b) 0 OF (d) 3T A B T

35. If f(x) =2x2+3x — 5, then % atx = 1lisequal to:

IR f(x)=2x2 +3x — 5, AELXD y — | HTHF T :
X

d

(@ o0 b1 ©-1 ) -2
36. Which of the following sentences is not a statement?

(a) There are 35 days in a month. (b) The product of (—1) and 8 is 8

(C) All real numbers are complex numbers. (d) Mathematics is difficult.
frafafrad arel & o1 91 Hu 51 8

(a) T% HeH § 35 feA g1 B (b) —1 3R 8 BT UHHH 8 B

(c) Tt aTeafaes TReATy Aty FBAE Bk © | (d) 7T U i fawa B
37. Find the mean of first n natural numbers.

U n UTdhd SBT3 DT HTe 1 b |

@ ) (b) n () (©)n (n+1) Ok

38. If E is impossible event, then P(E) = ?
I E $Is 3Ya g1 § d P(E) = 2

(@)1 (b) 0 OF (d)2
39. IfP(A) =§ and P (B) =§ Find P(A or B), if A and B are mutually exclusive events.
ﬂﬁP(A)zgsﬁTP(B)=§%IHﬁASﬁTBWWﬁWﬁ%EﬁP(AWB)WWI

3 1 4 5
@3 (b) < ©)3 @7
40. A coin is tossed twice, what is the probability that at least one tail occurs?
TP Fyaw! 3l 9R ISTAT 91T § 1 HH W HH U Ue U B &I T W1 82

(@7 (b) 1 (OF ()=



